



Nombre: \_\_\_\_\_

Fecha: \_\_\_\_\_ Puntuación: \_\_\_\_\_

$$\left(\frac{1}{5}\right)^3 - \frac{1}{3} =$$

$$\left(-\frac{1}{2}\right) + \frac{1}{5} =$$

$$\left(\frac{1}{2}\right)^0 + \frac{1}{4} =$$

$$\left(-\frac{2}{5}\right)^2 + \frac{2}{5} =$$

$$\left(\frac{1}{2}\right)^3 + \frac{1}{6} =$$

$$\left(-\frac{1}{2}\right)^3 - \frac{1}{2} =$$

$$\left(-\frac{1}{5}\right)^2 + \frac{3}{4} =$$

$$\left(-\frac{2}{5}\right)^0 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{6}\right)^2 + \frac{2}{5} =$$

$$\left(\frac{3}{5}\right) + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{3}\right) + \frac{1}{5} =$$

$$\left(\frac{3}{4}\right)^0 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{2}\right)^3 - \frac{3}{4} =$$

$$\left(-\frac{2}{5}\right)^3 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{3}{5}\right)^3 - \frac{1}{6} =$$

$$\left(\frac{3}{4}\right)^3 + \frac{1}{4} =$$

$$\left(\frac{1}{3}\right)^2 - \frac{3}{5} =$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{3}{5}\right)^0 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{3}{5}\right)^2 - \left(-\frac{1}{2}\right) =$$



Nombre: \_\_\_\_\_

Fecha: \_\_\_\_\_ Puntuación: \_\_\_\_\_

$$\left(\frac{1}{5}\right)^3 - \frac{1}{3} = \left(-\frac{122}{375}\right)$$

$$\left(-\frac{1}{2}\right) + \frac{1}{5} = \left(-\frac{3}{10}\right)$$

$$\left(\frac{1}{2}\right)^0 + \frac{1}{4} = \frac{5}{4} = 1\frac{1}{4}$$

$$\left(-\frac{2}{5}\right)^2 + \frac{2}{5} = \frac{14}{25}$$

$$\left(\frac{1}{2}\right)^3 + \frac{1}{6} = \frac{7}{24}$$

$$\left(-\frac{1}{2}\right)^3 - \frac{1}{2} = \left(-\frac{5}{8}\right)$$

$$\left(-\frac{1}{5}\right)^2 + \frac{3}{4} = \frac{79}{100}$$

$$\left(-\frac{2}{5}\right)^0 - \left(-\frac{1}{2}\right) = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(-\frac{1}{6}\right)^2 + \frac{2}{5} = \frac{77}{180}$$

$$\left(\frac{3}{5}\right) + \left(-\frac{1}{3}\right) = \frac{4}{15}$$

$$\left(-\frac{1}{3}\right) + \frac{1}{5} = \left(-\frac{2}{15}\right)$$

$$\left(\frac{3}{4}\right)^0 + \left(-\frac{1}{3}\right) = \frac{2}{3}$$

$$\left(\frac{1}{2}\right)^3 - \frac{3}{4} = \left(-\frac{5}{8}\right)$$

$$\left(-\frac{2}{5}\right)^3 + \left(-\frac{3}{4}\right) = \left(-\frac{407}{500}\right)$$

$$\left(\frac{3}{5}\right)^3 - \frac{1}{6} = \frac{37}{750}$$

$$\left(\frac{3}{4}\right)^3 + \frac{1}{4} = \frac{43}{64}$$

$$\left(\frac{1}{3}\right)^2 - \frac{3}{5} = \left(-\frac{22}{45}\right)$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{13}{18}\right)$$

$$\left(\frac{3}{5}\right)^0 - \left(-\frac{1}{6}\right) = \frac{7}{6} = 1\frac{1}{6}$$

$$\left(\frac{3}{5}\right)^2 - \left(-\frac{1}{2}\right) = \frac{43}{50}$$